GENERAL SCIENCE - PHYSICS = GRAVITATINAL FORCE AND GRAVITY / W Ta 3R Txcd

1.The Law of Gravitation was givenby . /W@'UT Eal ﬁ-l'qﬂ_afclm e arar |
(a) Galileo Galilei /3teiferar Jeleiarg

(b) Isaac Newton /3TT8oieh el

(c) Albert Einstein /3Teeic 3BT

(d) Charles Darwin/dTe® BTfdeT

RRB NTPC 27.02.2021 (Shift-1) Stage Ist
The universal law of gravitation was given by Sir Issac Newton.

TecarehyuT T HIGHHIHAG e T 3MSteh wgeeT earT e arar 2|

Fo Gm m,

=

2

Where G is the universal gravitational constant and its
value is 6.67x107"" Nm?/kg’

2. Gravitational force is defined by the force of attraction between - /?W'IEF»@'UT ol Pl Thas &
HTHYUT §ef SaRT RN o Siar @

(a) two charges/ar 3TTaer

(b) two masses /&l GeIHTT

(c) two magnets/al GeTHTT

(d) multiple masses /THIT&H GeTHTT
RRB Group-D 08-10-2018 (Shift-I)

mm

So, Fc —=2
2

m,m,

orF =G —
2

where, G is the Universal Gravitational Constant.
The value of (G) = 6.67 x 107" Nm® / kg’.

3. Which of the two statements given by A and B is / are true? What is the force of gravitational: /A ik B
€aRT fgU 1T e wYAl H A Flef W/A T B/e? JBcdIHIUT el FAT &

A. Is directly proportional to the multiplication of the mass of two objects. /ar ER—_(;B-ﬁ $ GIAT & 90TeT
& @Y AT g

B. Is directly proportional to the square of the distance between to objects. /ER—_SB-IT & o & @ F gar
& AU Biem gl

(a) Only B is true while A is false. /T IR & =t I3mT g

(b) Both A and B are untrue /had T T %’ Safer & Irea %’I

(c) Only A is true while B is false. /del T T § A« o Ieid gl

(d) Both A and B are true./T 3iiT &t a1 T &1
RRB Group-D 05-11-2018 (Shift-I)
RRB Group-D 05-10-2018 (Shift-I)
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mm

So, Foc —L2
2

mm,

orF =G —
2

where, G is the Universal Gravitational Constant.
The value of (G) = 6.67 x 107" Nm® / kg’.

4. Each object of the universe attracts another object by a force is proportional to. . . . . .. ?/SEATUS &7
T T R 3T TG F AGAF o GaRT S el gl

(a) Product of their heights /3sTehT ﬁ'l'é I 0T

(b) Product of their volumes /35TéhT HTAT T I0TeT

(c) Product of their masses /3% SSIHTT &l 07T

(d) Product of their energies/?ﬂ@ Sl ol I[0TeT
RRB Group-D 15-11-2018 (Shift-I)

5. S.1. unit of universal gravitational constant G is 2 /arasifas W BRI G FT S EEhTé' &2
(a) N kg—2/m2

(b) N m2kg—2

(c) N/m

(d) N kg/m

RRB JE 24.05.2019 (Shift-111)

S.I. unit of G (universal gravitational constant) is Nm2kg

G =6.67 x 10-11 Nm? / kg?

6. Which one of the following is not true about Kepler's rules for planetary bodies? /g st & v
HCeR & AT & R H Aeafaf@a J & $la a1 a7 761 g2
(a) The orbit of a planet is an elliptical with the Sun at one of the two foci. /fReY I8 AT eI g ATfRaT F

¥ U W HT & AT HUSHR gl g
(b) A line segment connecting a planet and the sun makes an equal area outside during equal intervals of

time. /fREY I8 3R FF &1 ST aTem @1 @S AT & GA HAUS & NI d8Y Teh GAT &1
AT B

(c) The square of its orbital period is proportional to the cube of the semi-principal axis of its orbit. /E'Riliﬁr
el afer 1 et sHehr el & HI-9HW 3787 & O & FAGIICT gl &

(d) The orbital period depends on the mass of the pIanet./EF&ﬁ'J 3 Ag F gegAT W AT FIA

gl

RRB NTPC 07.04.2016 (Shift-1ll) Stage Ist

Kepler's 1st law, all the planets revolve around the sun in elliptical orbits having the sun at one of the foci.
hoeR & JUH @97 & AR, @l 78 I & IRI 3R HUSHR He3it & gAd &, vl gF v
e &g W g Bl

Kepler's 2nd law, states that the areal velocity of a planet revolving around the sun in elliptical orbit remains
constant which implies the angular momentum of a planet remains constant.
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FYeR &I GO A IdTar § T 3(Use Sell d §F & IRl 3R gH alel I8 & &g aar
R & & fome 31 § & 7ig &1 woly d@aer R Edr &

Kepler's 3rd law, the square of the time period of revolution of a planet around the sun in an elliptical orbit
is directly proportion.

HCoR T AU I#, el g 1 §F & IRT 3R 3USThR el H IRHHUT i FAAEE T aaf
e eI gl &

3

T° o a
7. Which of the following among is a weak force? /fAFAfaf@d & & FiF AT T FHAR gl %’?
(a) Momentum force /TddT gof
(b) Gravitational force/'{l)Wﬁ'UT ol
(c) Mass/gcdHTT
(d) Short range force/aH @ I &of
RRB Group-D 26-10-2018 (Shift-Il)

Among the following Gravitational force is a week force.

AT # & JRcarhyoT gl Teh HCAlE oo ¢

8. What is the value of gravitational constant (G)? /UWQ'UT BT (G) &1 AT 7 82

(a) 6.6734x 10 1 m? / Kg?

(b) 6.6934 x 10 "** m? / Kg?

(c) 6.6734 x 10 11 Nm? / Kg?

(d) 6.6734 x 10 3 Nm? / Kg2

RRB Group-D 20-09-2018 (Shift-1)

RRB Group-D 05-12-2018 (Shift-1l)
RRB Group-D 23-10-2018 (Shift-Ili)

G is a universal gravitational constant.

The value of G is 6.67 x 10-11 Nm2 / kg2

9. If the distance between two objects is doubled, what will be the effect on the force between them? /Ilﬁ'

al aEg3it & o & gl e Y & ST A 3ok S oETe dTel §of WY AT I USIm?

(a) The gravitational force will increase 4times./3;Rv<-_cl'IT=Fé'UT §el 4 9T §¢ SITaATT |
(b) Gravitational force will increase 2 times. /WW §el 2 9T §¢ SITTATT |

(c) Gravitational force will decrease 2 times. /EWW §el 2 I A RRSILE
(d) Gravitational force will decrease 4times./Wé‘UT Sl 4 T A ET SITUATT

RRB Group-D 13-12-2018 (Shift-1I)
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Ans : (d) If the distance between two objects is
doubled, the gravitational force between them will
decrease four times.

m,m,

F=G—/L2  ————— i
b Fp 1)
F < Lz
-. If distance is doubled
d,=2d
F,=G m;m,
df
F] -G 1’]1][1’1_3 -G m,n:z
(2d)” 4d”
F . S
F = 2 [from equation (1)]
10. The force of gravity exists between .................... objects, but cannot be felt until the mass of objects,
such as planets, is very high -/WUT C I S EIF_I}IT & §T FﬁGj\?\' HGIRACIEGEGERGED

HEH el [T ST Fehall ST O foh g, SR IEG3H FT Ged#AT 9gd 3T o &
(a) Four /AR

(b) Each and every /9cda

(c) Only two /&deT &l

(d) Only one/shadl T

RRB Group-D 24-10-2018 (Shift-1)

The force of gravity is present between each object.

But this cannot be realised unless the mass of the objects, such as planets, is very high.

11. The force of gravity on an object is called. /foaT a¥d W GEGRCIG] '{_,IW'IEFW ol I Fed ol
(a) Weight /dsTed

(b) Momentum /&a3T

(c) Stress /deTd

(d) Impulse/37a3T
RRB Group-D 22-10-2018 (Shift-1ll
The force of gravity on an object is called a weight. -~ w=mg

forell T T S dTel I_caTRYUT S & AR gl ST g

12. Discovery of universal gravitational constant 'G' had done by - Ve ICE N W BRI 'G' Fr
et fordel & o -

(a) Antoine-Laureate Lavoisier JaA-aRE aﬁsﬁw

(b) Isaac Newton /3-]13?:‘*37 e

(c) Henry Cavendish /e Shdfser

(d) John Dalton/SifsT STeed

RRB ALP & Tec. (09-08-18 Shift-Ill)
RRB Group-D 22-10-2018 (Shift-I)
RRB Group-D 30-10-2018 (Shift-1I)
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The universal gravitational constant G was discovered by Henry Cavendish.

A AS Tecarehyor fEeieh G &1 Wil goill Hdfser o & |

13. Suppose the gravitational force changes inversely from the n power of the distance, then the time period
of the planet revolving around the Sun in a circular orbit of R radius, will be proportional-

ATl NTAT o Tocarendor g gl I n ATFT @ Geshaloarclt 81l &, o R 2T i garepr el
# g & IR 3R gHEA arel Jg N FHAEE Jegarice gl
(a) R™
(b) R"
(C) R(n+1)/2
(d) R(-1D72
RRB Group-D 15-11-2018 (Shift-l)
1

) Gravitational force oc

(distance)"
F oc Ln {R is radius)
R
ma oc Lﬂ [F=ma]
R
1
ao— [m = constant]
Rn
R’ o L (a=Ro’)
Rl\
0‘)2 le

(?_njz w 1 (0= 2n )
—_— — D= —,
T le T

1 1
_1(1:—
T_ le
TZ o Rn~]

n+l

TR 2

(41t2 = constant)

14. If the distance between two particles increases, what is the effect on the force of gravitational between
them? /A& & &UlT & o T gl 9¢ ST & o 3eTeh S I_cATHYUT T T FIT THIT TSl 57
(a) Increases/d&dT &

(b) Decreases /g¢ STl %’

(c) Becomes zero /[ g ST §

(d) Remains the same/dgl I&dT &

RRB Group-D 12-11-2018 (Shift-1l)

If the distance between two particles increases, the effect on the gravitational force between them
decreases.

According to Newton's Law of Gravitation, the force of attraction between any two bodies in the universe is
directly proportional to the product of their mass and inversely proportional to the square of the distance
between them.

Ifg ar ol & i &1 gl Ject § al 37 a1 Bcalehyul Jof 1 GHT HHA &1 el ¢
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=gcel o TecdlhyUT & A & TR, sedAis H fohegl ar TS & e HHYOT T 3eTeh GeFATET
& AU & WY HAAF AR 3ok ST F g & T & FehARII g &

Foc TiMy
2
r
15. Which of the following is not related to universal law of gravity? /ffaf@a & @ +ia W
& AasitAE OH & FatSd S8 67
(a) The force that binds us to the earth /ag AfFT T g t(r_ﬁﬁf T S §
(b) Moon movement around the Earth /fc{%ﬁ & ART 3R ISAT Fr afa
(c) Tides due to Moon and Sun /AT IR Flji & HRUT FIR-3TeT

(d) Movement of Earth around the Moon [TGHT & IR 3R C[%_Cﬁ $r afa

RRB Group-D 01-12-2018 (Shift-1)

RRB Group-D 15-10-2018 (Shift-1)

The mutual attraction between the objects acting on gravity and the force generated by it is called the force
of gravity

TEcaTehyoT T Y el dlell a&G3HT 3R 30 3cUeeT ol & &g & IREARE ThYor it
&caTehyOT &l el Sl &

16. Which of the following statements is incorrect? /ﬁmﬁ@a H @ i G AT AT %}?

(a) The weight of the object is maximum at the poles and minimum at the equator. /ER—T:_[ Sl AN %TCIT W
sftreas 3R e @ W FgAdH g B

(b) The weight of the object is minimum at the poles and maximum at the equator. /ER—TBT Sl AN gg‘d’f W
AdH 3 AT W W AHRHdA gl g

(c) The weight of the object at the center of the Earth is zero. /C[%_cﬁ + Phg W a¥d @1 AN YT gl

(d) When the object is moved to a higher height, its weight decreases. /SIs ard Fr 3¥F ﬁ'lé’ W o

ST ST &, dl 39T Iotel A g I gl

RRB Group-D 02-11-2018 (Shift-1)

The weight of an object will be maximum at the poles and minimum at the equator.

The weight of the object will decrease when it goes up because the value of r will increase when it goes up
and the weight of an object at the center will be zero.

el aFg 7 6R ¢al W ATARTA TUT $FHET [T W GAdH gIam|
IR S R TG H It A g W FAH FR A R & AT §¢ T IR $g | aeg
&I dolel e B ST

17. Which force maintains the structure of our solar system?/"ﬁo—-f T el E?TI'Q' gk #ga i g &
FATT T@T §?

(a) elastic /ARIER

(b) electrostatic /ATy ol

(c) mechanical force /aT3& ol

(d) gravitational /WW

SHIPRA CHAUHAN @CLASS24/ GENERAL SCIENCE



GENERAL SCIENCE - PHYSICS = GRAVITATINAL FORCE AND GRAVITY / W Ta 3R Txcd

RRB Group-D 30-10-2018 (Shift-1)

The solar system consists of the Sun and the celestial bodies, which are held in this system by the Force of
gravitational.

AR Az & qF AR Ry [ A § S Tecarndor sef gaRT 57 gomel & §9 gU ]
18. Symbol of universal gravitational constant L3 ICEIIEED W@UT R FT Tdrh %’.?

(a) CG

(b) G

(c)s
d) Cg
RRB Group-D 10-10-2018 (Shift-11)

19. The value of acceleration due to gravity does not depend on................ ?/W % SIROT Aol &l
21 S W AT 7 Far g 2

(a) Constant of gravity 'G'

(b) The mass of the object falling below 'm'

(c) Radius of Earth 'R’

(d) Earth's mass 'M'

RRB Group-D 08-10-2018 (Shift-1I)

RRB Group-D 10-10-2018 (Shift-Ill)

Value of acceleration due to gravity depends on the universal of gravitational constant (G), radius 'R' of the
earth and mass 'M' of the earth.

IEcaATehyUT & HRUT caUT FHI Hlel JvcdlhyUT R (G), gt I BFear R 3R gl & gegalreT
'M' & FIaHiAS T AR A g

20. Which of the following is not an example of gravity? /Afef@a & @ 3l ?W'IEF»@'UT I 3caTeUT
el §?

(a) To prevent the planetary atmosphere from being separated from them. /IRT & QTATaROT &l 378
3ol gl & UehedT|

(b) It helps in rotation of black hole. /Jg sl E’Iﬁ & gHe H A FIAT %’I

(c) Keeps the stars connected together. JART &r 399 H S I@dr %I

(d) The moon is in its orbit./TGHT 39T H&T 7 gl

RRB Group-D 24-10-2018 (Shift-1)

The mutual attraction of force acting between any two bodies is called gravitation and the force generated
from it is called the force of gravitational.

Such as the moon revolving around the earth, the earth revolving around the sun and preventing the
planetary atmosphere from separating from them, connecting the stars, the moon being in its orbit, etc.
Gravity is not responsible for the rotation of black holes.

fohegl e TS & S ol aTel g & IREIRE HTHYUT I Jecalh¥OT Fgl STl & R 508
3¢ Sl 1 AEcATHYUT Tol gl ST gl

SR T F AT & ART AN AT, It 1 g & ARt AR g R aqgT F agHsd 3w
3T Bl / AehedT, ART T SSAT, TGHAT T AT FaT H gl NG| Seldh g1 & gHel & fow
Tecarehyor foFAeR 8 &
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21. Free fall possible only in - /H&d 9ol hacl H oI g?
(a) Atmosphere/aTdTayoT

(b) Air /'q’RI

(c) Sea /ﬂ?flpa

(d) Vacuum/faaTa

RRB Group-D 19-09-2018 (Shift-1)
Any object falls freely in a vacuum because there is no effect of friction on the object

I o a&q] fadTd & Faad ®7 & R § Fifd avg W °a¥r &1 HIS GHIEG AT IS §

22. What does the work done by gravity depend on? /W@'UT CaRT T ar e fF W AR
AT 7

(a) At the difference of the vertical heights of the initial and final positions of the object. /ER—TBT Fr aRAS
3kt 3ifaw =T & FeantR 39 & 3R W

(b) Differentiation of changes in the initial and final states of the object. /ER-T:_[ Fr urfAs 3R 3ifaw
AT # aRade #1 K|

(c) Differentiation of changes in the initial and final states of the object/a?—_gf Fr yRfAe 3R 3ifae saear
H gRade &1 3.

(d) Difference in the horizontal state of the object./ER—_gf Fr yRfA® 3R 3ifae raear & aRada &
3HeR|

RRB Group-D 22-10-2018 (Shift-1)

Work done by gravity :- w = (mgh¢ - mgh;) = mg (hs - hj)

Thus, the work done by gravity depends on the difference between the vertical heights of the initial and
final states of the object.

S8 YR, Tocalehyol ZaRT fohal aram S aeq &1 RS AR 3ifde saedr & Feaer Farsat
& 9T F IFR W AR war gl
23. If your weight 38 kg on Earth, what will be your weight on the planet Mercury? /e f{_%ﬁ SRS ISC)

gofeT 38 Tohell § Al 9 Ig TR JMTIRT Tofel fohctalr g1

(a) 19 kg

(b) 760 kg

(c) 10kg

(d) 14.3 kg

RRB NTPC 29.03.2016 (Shift-Il) Stage Ist

Given, Weight on Earth = 38 kg

Note - Gravity of Mercury planet g(mercury) = 0.378 m/s2
Weight on Mercury = 38 x 0.378 = 14.364 kg.

24. If the mass of a person is 60 kg on the surface of earth then the same person's mass on the surface of the
moon will be:

i qudl T g W fhell eafFd &1 gedAeT 60 fhall § o UgAT S Tdg T AT hiad &l

GSIHATST g4
(a) Okg
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(b) 360 kg

(c) 60 kg

(d) 10 kg

RRB NTPC 28.12.2020 (Shift-1) Stage Ist

Gravitational value on moon is 1/6th to that of the Earth.

UGHT TR TRcdlh¥UT AT Gt &7 1/6dT &

25. How long will it take to reach its highest point, if a ball is punched upwards with an initial velocity of 25
m/s. [ g =10 m /s2].
I weh dig 1 25 HeW/Ahs & IRIAS AT F FWR T 3R FFl AR STl g, 3§ 30T
3eaa#A fog I 9ga H fohdem FHa T
[g =10 FH/A2]I
(a) 10 seconds
(b) 2.5 seconds
(c) 50 seconds
(d) 5 seconds
RRB Group-D 01-10-2018 (Shift-I)
Initial velocity (u) =25 m/s
g=10m/s’
Final velocity (v) = 0 m/s
From, v=u- gt
0=25-gt
-25=—gt
gt=25
25
[ = —
10
= 2.5 seconds

26. The point where the entire weight of an object functions is called
HYUT 9N R AT §, 30 ——hgl STl &

(a) Center of mass /GcTHAT ol he

(b) Center of friction /ESUT &hT g

(c) Center of gravity /Wé‘UT HT hg

(d) Center of pressure /G&Td bl Feg

RRB Group-D 18-09-2018 (Shift-1)

The point where the entire weight of an object functions is called center of gravity.

g foiq Stel fonell aq T dYUT IR R T g, Tocd e Hegollell &

27. The mass of an object is 10 kg. What will be its weight on Earth? (g =9.8 ms—2)/fRaT a¥d ol gedHlT

10 Toharm &1 92t W s8I AR fohcialr g2

(a) 10N

(b) 10kg

(c) 98kg

(d) 98N

RRB Group-D 04-12-2018 (Shift-111)

W (weight) = mg (mass x gravitational acceleration). = 10 x 9.8 = 98N

/A g SteT et avq @
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28. Unit of 'g', is?/'g' ST SIS &7

(a) ms?

(b) mst

(c) ms?

(d) ms™

RRB Group-D 24-10-2018 (Shift-1ll)

The unit of gravitational acceleration 'g' is the same as the unit of acceleration [i.e. unit of 'g' is ms-2].

AT aXUT T FHTS 'g! OROT Y HIS F TAWT § [31l g T $H ms-2 2]

29. Astronauts feel......weight inside the spacecraft. /3aker Tf3at & 3alkeT IeT & eI aoieT Hqeqd
gl &l

(a) More /318

(b) Less/ahdH

(c) Zero/R[=

(d) Depends on G force./?l:l}?dﬁ?@'UT I W IR FLar g

RRB NTPC 11.04.2016 (Shift-1I) Stage Ist
The space passengers (Astronauts) inside the spacecraft are in a state of weightless, which they feel zero
weight inside the space craft because gravitational acceleration in space is zero.

37AReT I & 3T FaReT IEr (3AReT I dRET Rufa & gia § 59w 3¢ 3aReT I &
3T T AR HEHH BT & Fifh HAReT & Jocarehyor caoT Y Biel &

30. The weight of a body at the center of the Earth will be: /‘C([%Eﬁ F shog W Thar Tz &1 7R ghm:

(a) zero

(b) infinite

(c) as much as on the surface of the earth

(d) None of the above

RRB J.E. 2014 (14.12.2014 Set-2, Red Paper)

Gravitational acceleration at the center of the Earth is zero (g = 0). So, the weight on the center of the earth
will be zero (i.e. w = 0) But the mass of the object will never be zero.

gedl & e W IBcalehyOT ool Y (g=0) 8| al, gLl & hg T HR Y= gl (3T w = 0)
AifeheT a&q o1 gegAT H3f o = et gl
31. The acceleration due to gravity on the Earth's surface (mass M and radius R) is proportional to ....... /‘C[%_cﬁ

T HAG W I&caehyuT & HROUT 0T (A M IR ST R) ...... F FHARIAT g1 &
(a) M/R?

(b) MR

(c) MR/2

d) 2 MR

RRB ALP & Tec. (17-08-18 Shift-Ill)
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Ans : (a) The value of acceleration (g) is proportional

M, . . .
to < due to gravity on the surface of the Earth

2

€
(mass M. and radius R..
_ Gm,
R
G = Universal gravitational constant
g = gravitational acceleration or acceleration due to
gravity
M, = Mass of earth
R. = Earth's radius

32. What is the value of acceleration due to gravity on the surface of the Earth? /t[%_cﬁ Fr ddg |

ecaTehyuT & HROT TaXOT HT Al FAT §?
(a) 10.8 meters per square second
(b) 9.8 centimeters per square second
(c) 9.6 centimeters per square second
(d) 9.8 meters per square second
RRB ALP & Tec. (31-08-18 Shift-1)
GM,

(g2)= R

G=6.67 x 107" Nm?%/kg’
M, =5.9722 x 10* kg

R. = 6.4 x 10° meter
_6.67x107""'x5.97x10*
- (6.4x10°)
39.8199x10"
40.96x10"”
=0972x 10 )
=972 m/s® =98 m/s’

33. The weight of an object on Earth is 200 N and mass is 20 kg. What will be the value of gravitational
acceleration? /92dY WX fohell T&J 1 $IR 200 N AT GeFATT 20 kg &1 oAl TaROT T Al FT

grem?
(a) 9.8 m/s?
(b) 10 m/s?
(c) 9.8 m/s?
(d) 10 m/s-2
RRB Group-D 05-10-2018 (Shift-1)
Ans : (b) -~ Weight = mass x gravitational acceleration
Gravitational acceleration = &ght
mass
200

=" =10 m/s’
0

34. What will be the effect on the rock brought from the lunar surface? /aig $r Tdg & c_*l'lé 31? gccled
W AT I g ?
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(a) Its weight will change. /8T dolel dcel SITUd
(b) Its mass will change. /SH&T GcIHTT sgel ST
(c) Both its mass and weight will change. /S8l GcdHTT 3R o St S STTam

(d) Both its mass and weight will remain the same/S8T gcdHTT IR g e gae o

RRB Group-D 27-11-2018 (Shift-1ll)

The value of gravitational acceleration g on the Moon is 1/6th of the value of gravitational acceleration on
Earth.

Therefore, the weight of the rock brought from the surface of the moon will change.

IGHT TR IEcdlT caluT g &M Al G2l T I[&cdrd a0l & AT T 1/6 af gl
$afolT IgAT I Tdg & o5 35 T HI dolel IGol ST

35.The movement of the Moon around the Earth is due to... /‘C([%Eﬁ & IRI 3T IGAT T g fras

(a) Gravitational force /W@'UT ol

(b) Centrifugal force /3T9eheg,I T ol

(c) Concentric force /31TRheg T ol

(d) Nuclear force/ATTRASIT FoT
RRB Group-D 24-10-2018 (Shift-1)
The movement of the Moon around the Earth is due to the force of gravity. i.e. gravitational force.

36. What will be the mass of the object whose weight on Earth is 196 N? /38 aEd ol qedHleT FAT RIEl

TS ehT qedl WX R 196 N 82(g = 9.8 ms-2)?
(a) 1.96 kg

b) 20 kg

(c) 2kg

d) 19.6 kg

RRB Group-D 10-10-2018 (Shift-1l)

Ans : (b) Weight of object on Earth (W) =196 N
Acceleration due to Gravity on Earth (g) = 9.8 ms™
Mass of object (m)=?
W=mxg

W
= m=—
g

o

G
m:m =20 kg
9.8

37. The mass of an object is 20 kg, what will be the weight of that object on the Earth? /f&T q¥g ol

GegHT 20 TRl &, 92l W 38 a&q & HR fohcar geme(g = 9.8ms-2]
(a) —196N

(b) 196 N

(c) 1960 N

(d)19.6 N

RRB Group-D 26-09-2018 (Shift-I)

Weight of object (W)=mg =20x9.8=196 N
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GENERAL SCIENCE - PHYSICS = GRAVITATINAL FORCE AND GRAVITY / W Ta 3R Txcd

38. The value of 'g' decreases according to - /'g' &l Hlel Tl %} -

(a) Weight

(b) Height

(c) Mass

(d) Dimensions

RRB Group-D 08-10-2018 (Shift-Il)

Gravitational acceleration (g) does not depend on the form, size, mass, weight of the object. When moving
up or down on the surface of the Earth, the value of g decreases.

TRcdIT Ta’0T (g) T & &Y, 3R, GeFAE, HR R IR 78 oam 1 g2 &1 Tcfg W 9 A7
AT S W g H A g T g

39. Which condition does the body occur during free fall? / free fall F et s fr sla @ RRufa
3cYoo] élél %’?

(a) weightless

(b) rest

(c) dynamic

(d) finished work

RRB Group-D 20-09-2018 (Shift-I)

When a body is dropped down freely, in such a situation the body falls into a state of weightless i.e. the
weight of the body is zero at centre of earth but the mass is not zero.

S9 Rt s F Tads 9 & T RmEr arar g, a o fufa J iR arda =afa & 3m aar
¢ 3T g & Fg W AN FT gl YT BT § Afhed GeIAT e T giam g

40. A ball is thrown vertically upwards at a velocity of 20 m/s. What will be the perimeter of displacement

after 3 seconds? (g = 10 m/s2) /U 3G P 20 HEY/AHs & AT & ddad IR FT 3R Har ST 1 3

Q63 & d1g eIl &1 aRAT FA7 gem?
(a)25m

(b) 15m

(c) 20 m

(d)10m

RRB Group-D 22-09-2018 (Shift-l)

Ans : (b) Since the ball is thrown vertically upwards.
La=(-g)

From the Newton's second equation of motion due to
gravity-

l 2
h=ut——gt"
28

:20x3—lx10x3:
2
=60-45=15m
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